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Note 1. All questions are compulsory having internal choice.

2. Figures to the right indicate full marks.
3. working note should form part of answer
Q1. Attempt any two of the following.

A. State the features of XBRL.

B. Hopeful Itd. has a capital of Rs 10 lak\hs irL eqﬂ;ty shares pf Bs ‘1_9 ) each. ] e hares.
currently quoted at par. The companyj)rbposes declar'm()n of a dwlde hD: 3}‘0 Ptif_%hue

‘\--,-F.

at the end of the current financial ychr&me ffapltallzatlon,rate fOr }he fisk Classt ‘:’i&_ﬁ]ch the

company belongs is 12%.7 Whaﬁwﬂl thq mhr\kelpr!ce pérshare m‘t'hc en\ year SE
\\“(\ -,' " i Yy ’:’,’\\\\"\:'h
i) Dividend is declared. ii) agﬂ DL\hdcnd is not decﬂa‘n‘ed Assummg 1haghe ‘tompany wants
3 to make new investments &S{g 40 00 000 durmg the penod ﬁow n{any shares must be
issued considering i) anff 1i1 If‘?h‘c company has net prdﬁfs bf RS $ 00,000. Use M-M
approach. —\3‘\‘
C. Following mfonnatlp R
Particulars Amount Fo
Eamning Rs 5,00,000 |5 557
Dividend payout ratio 60% “C‘E‘f
No of shares outstanding 1,00,000 s
Equity capitalization rate 12% :
Rate of return on investment 15%
N Whatshm]dbgm\ arket;pri SE r \3 gr\na‘i;per Walte_rModel?
2 What,]s optlmhm AT yiﬂe phym{t“ra i0°as pérW,aller model and market price per share at
opt:m\um payout rhno’?»\’j“"g\\ £ -\\S“-\_ S OSS
" SO TR Wil I
NGO L SR
anfwd o the ollowing -+ 15 marks
SN . A 2‘? F o
‘Iﬂo\nsig\ér\iﬁgqp ‘\~o & g‘t\ o mutually exclusive proy:cts proposals, M and N, whlch

ﬂ\} mc‘brpor Eg {iﬁ!\ i cap:tal budgetmg decisions. The yield on government
o and

’{lglsfls ’us‘ \d 3\ ’\gk free rate. The expected cash flows and their certainty
: ]‘o‘ﬂcf s\.‘\&'\ < ;‘C o
o ST

Project M Project N
Cash flowRs |CE Cash flow Rs C.E
4,50,000 0.8 4,50,000 0.9
5,00,000 0.7 4,50,000 0.8
5 00,000 0.5 5,00,000 0.7
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Q4. Attempt any two of the following. S
A) A loan account remains out of order as on the date of Balance shect of‘a b_a'rifcihe accouht :_- \“
has been classified as doubtful assets (upto 3 years) detail of fhe acount I8 as below‘.-, 0 RN

N Q \4'>¢? 3 sl A g
Outstanding amount Rs 7,24,000 :
ECGC cover 30% outstanding :
Value of security (Maximun of *1,50,000
As per valuation on the date of grant Rs2,25,000
As per the realizable value as on balance sheet Rs1,75,000

Compute the necessary provision to be made lzy b&‘nk as per npplrcaﬁle rai ?

B) From the following information calcgl‘“qtéT 1ﬁt l\{ebate on bl“ dlSCQh“‘ asLOﬁL g@%ﬂ.‘_
\J 5\50‘\:-71 .\ "-\, “2‘ cmflic) -Q

2017. &

Date of bill Amount
24" February,2017 | 3000
28" February ,2017 | 5000
15" sebruary,2017 | 2500

racious Ltd. for the year ended

2016. 15 marks
Produﬁ’\onfor‘the y\EaP \,LUO A
Fm@:edgood? 3 fnoﬁths -
R@dnatqﬁq]“\in gturesﬁ mo ﬁ[l \c
Prq‘auctlonbrbc‘esﬂmonlhf o~ 3

\Cr@ﬂL&aLIo\veﬁby suﬁpqug - .mq\}h 3

'“\Gr\eﬂltg\wen 10 dé‘btoﬂs 3‘}nont 5 (V

~ $éﬂiﬁgpmeper umt Rs 40 9 ? S\\ _.:\ ¥,

- \Rawsmatenal 50%f; sclh g :

Wage's 220%of selling}mp

Overhead 10% of: $e1!mg pncb\ : <

"gc?m utei). workmg caBual‘rcqu‘lrgment of Precious Ltd.

fé‘u l{ermlss ble BankBor;b\wm‘gLﬂs per first and second method of lending.

o Ihe redsa $gh roaucuonanasales cycle. wages are paid in the next month of accrual and

rhe\d Are pald m”tbé saIﬂ&mbnth

<,
1. e \ 3
N SV

’f

)
r,(

o ok ok o ok ok ok ok ok ok ok ok ok ok
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